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5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ouzgx ¢! 1,700,000& =14 1,700
OoxXgE &¢s522] A 1,500,000 = 14! 1,500
O=8 FMxgE 2 25,000,000 =1CH 25,000
Ctest =222 MH& 105,188 105, 188 0
ANE MAX] sl 105,188 105, 188 0
201 2et2 Y| 105,188 105, 188 0
01 AP 22| d| 100,000 100,000 0
OAMEANAX 23t 100,000
02 2% 4| 5,188 5,188 0
OAMELAR 25 & 2= 5,188
HdEs5 Jls 23 1,610,270 1,150,992 459,278
= 15,034
& 8,424
Al 1,586,812
AN HE5 =48 218,605 256,238 N 37,633
= 5,280
& 8,424
Al 204,901
N A2 X4 & 2913 12,000 10,000 2,000
307 2Iz2to| A 12,000 10,000 2,000
02 QIZ2tAAE X2 12,000 10,000 2,000
OKWIC AE3tNE AIY BX 12,000
SRR MEAAY RS 92,859 168, 170 AT75,311
201 gEt24A Y| 36,559 8,170 28,389
02 Z2=2=24%4| 36,559 8,170 28,389
OAl EHOIX 894 22| 33,871
H/W 7,673
S/W 13,169
5 or&Y| 6,869
2 4,080
CHE®R A 2,080
OF2AdEH 0lHY 28 2%
22,400,000 *12% 2,688
207 A F 0 | 25,000 70,000 A 45,000
02 & A Y| 25,000 70,000 A 45,000
odggie2y o Jls 22 25,000,000 = 14! 25,000
405 XHAHFEHI 31,300 90,000 A 58,700
01 XAt 2 E F S| 31,300 90,000 A 58,700
OZHOlIA UlYAMNH 10,000,000 *1CH 10,000
OZH Ol X 2 otAy| 7,100,000& =3CH 21,300




AN BEEXAD
M 93 Jls 23
Sel XY F2Ps = CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AL2s0le T2 22X S4(BX) 48,396 0 48,396
= 5,280
< 8,424
Al 34,692
307 glz2tol & 48,396 0 48,396
= 5,280
< 8,424
Al 34,692
02 QIZtFAE XS 48,396 0 48,396
O30t T g2t oAyl 48,396
= 5,280
= 8,424
Al 34,692
2302 22 ¥ #4435 N 65,350 30,062 35,288
201 et 10,000 8,712 1,288
02 2324l 10,000 8,712 1,288
O&Es0t2 EH0IX |RAE=+ 10,000
301 et d = 5,850 5,850 0
09 SAAHIE &S 5,850 5,850 0
OZESOE Fus & 3o 24 5,850
307 glz2+ol & 4,500 4,500 0
02 2B AEXS 4,500 4,500 0
O&Es0E dAEANHE HAME 4,500
403 A X EHHS =0l A 45,000 0 45,000
02 S| 2 S0l CHEHCH & AF B 45,000 0 45,000
OZEs02 EHO0IX &A&E24d Mo
15,000, 0003 *3H A 45,000
HEY HFB3 =2 1,391,665 894,754 496,911
= 9,754
Al 1,381,911
N2 HH=E2HAH S (EX) 32,615 0 32,615
2 3,544
Al 29,071
201 Let24E] 15,601 0 15,601
2 3,544
Al 12,057
01 At 22l 15,601 0 15,601
OAZF Moll=2HAH 2= Xz 15,601
2 3,544
Al 12,057
308 A EHHSOIA 17,014 0 17,014
05 HXNHMAURE = 17,014 0 17,014
OAZF Mol=72HAH 7= Xz 10,925




M BREEMD
M3 23 Ols Y
e Y HES =W (9 ® =)
SA-ZH () - HRAY - BES Off &4 %Ei Hwsz
OAlZ2 Mol E2HAH 5 X - 2 6,089
Cls AR Y 23 365,700 371,730 A6,030
207 42O ety 69,700 79,730 A~ 10,030
02 & AFJHEHH 69,700 79,730 ~10,030
082 AZEN 7Y 120, 0002 «60H 7,200
OMS Office ATEQ0 22 280,000 *607H 16,800
O&N(CAD) 2ZEYN 7
1,400,000 * 104 14,000
Oldefz AZEYN Y 985,000 «20H 19,700
Og= 0I0IXNEI ATE0 2L
60,0002 «200H 12,000
405 XtHakF S 296,000 292,000 4,000
01 AL SEF SHI 296,000 292,000 4,000
OZEH =AM (20074 OI™ WHME)
990, 000! «200CH 198,000
ORUE (172Xl 2007 Ol&® RAE)
280, 0002 *350CH 98,000
Y HEG ALY Y 29 968,510 446,017 522,493
201 LBr2 161,407 136,470 24,937
02 Z22%Hl 161,407 136,470 24,937
OFAEH |ANEE 94,207
HEFY YWELT 24,000
B2 M A AE 32,000
MOIHBAAY X B2 4,685
SMIEAI A XL 2,260
oS 5t A 8,281
2 LA Y| 7,181
LHol 2 g ui &y 15,800
Oous AtEg 12,000
BAHARA MBIMHR2
200,000 +230) A » 128 55,200
207 ¢ R Of ety 47,200 62,670 A 15,470
02 ® AR Y 47,200 62,670 A15,470
ZEEH HHOI A BHAl 31,0009 1,200 4 37,200
OLAl HAYM AZEAN 20,0002 *500H 10,000
401 A2 HI 2 2| 35,000 77,000 A42,000
01 Al & H 35,000 77,000 A 42,000
OUELZT A& BA 20,000
OXSFALBAHES) 2,500,000 67 A 15,000
403 IXISHSK =0l 74,903 69,877 5,026
02 2| 2SOl CHEHH S AL HI 74,903 69,877 5,026




AN BEEXAD
M 93 Jls 23
e Y HES =W (9 ® =)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
O3SI|EHAIAE RXIE =HI
1,070,031,640& *7% 74,903
405 RHoHF S HI 650,000 100,000 550,000
01 AL EZFH S 650,000 100,000 550,000
Olpsgzel &l 1,250,000 =8 CH 10,000
OgsstEH(LE) 5,000,000 =8CH 40,000
OWEARX F¢ 100,000,000 = 1CH 100,000
OHE 2Lltet AIAE 2= 500,000,000 14! 500,000
NZREFEEANAE SSEH DH(EX) 24,840 0 24,840
2 6.210
Al 18,630
201 £B-2%H| 24,840 0 24,840
2 6.210
Al 18,630
01 At 22l 24,840 0 24,840
OANZRHEFEHEAAE =FFHl WA 24,840
=2 6.210
Al 18,630
SHNHEF Jls L3 570,694 553,127 17,567
= 5,287
Al 565,407
dESH o=Zet 2= 570,694 553,127 17,567
= 5,287
Al 565,407
sSAAIE ZH |22 43,200 41,400 1,800
201 ¢4l 41,400 41,400 0
01 At 22l 5,000 5,000 0
OXHJANIIHS F Y24 2,500& *2,000% 5,000
02 232gl 36,400 36,400 0
OdZHst wetdl KX 2el 16,000,000 14! 16,000
OANZAx, S IIE |XAHI
400,000 *300H 2 12,000
OMEAL, SHS A2 XUl 300,000 x2804 & 8,400
202 odl 1,800 0 1,800
01 = LH o4 1l 1,800 0 1,800
OHESUSAN FUHSE ASEHA
20,0003 *90 «1H 1,800
Ay 2 497,099 495,227 1,872
201 L2l 426,000 430,000 A 4,000
02 =224l 426,000 430,000 A 4,000
OMEAI22 OOIH sldz 500,000 122 6,000
OHFSH(HESH)2ER2B 270,000




SN ERESD
M SHUHEHE JIs 2t
Sl HESH Qe RS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O#ISH Md3tEd 29 150,000
308 MtXIEHSOIH 71,099 55,227 15,872
05 IXIHHLESS 71,099 55,227 15,872
oAt BESHUL SEIEE RES
27,440,000& =13l 27,440
OsHEZUIAS (BNC)(AHIREZ)
43,659,000& » 14! 43,659
SAAE elEe 2= 9,250 16,500 AT,250
405 TtobH S| 9,250 16,500 AT,250
01 XAt 22 F S| 9,250 16,500 AT7,250
Os8%s & &30 2 350,000 1504 & 5,250
OFUE LErA3I ¢ 40,000& *100CH 4,000
PUHOAHUYERSAMY(ER) 21,145 0 21,145
< 5,287
Al 15,858
308 XAXIEHSOIA 21,145 0 21,145
< 5,287
Al 15,858
05 HXHMARE = 21,145 0 21,145
ORHUHYUE 2FALY 21,145
< 5,287
Al 15,858
HERIAZH(EEE L) 94,417 91,466 2,951
IAHH(EEH AL 57,217 54,266 2,951
lAR2AH (EE2X AL 57,217 54,266 2,951
101 124 dl 57,217 54,266 2,951
03 RIAHAZZ2TE = 57,217 54,266 2,951
OYgREX(ANEFEET) 27,466
CJlEs 1,088,890 x1H x12& 13,067
a2 1,088, 890& *400% 4,356
wEs2 2l 120,000& x1H 128 1,440
& Mz AlY| 130,000 x1H «12& 1,560
ANZte 2R+
6,956 *15A1 2+ 1 5 1 « 128 1,879
YESOHHI(E,F4)
1,088,890 & » 1 x120% 1,307
L2 &Y 55,6482 «1H x10L 557
285G 1,380
L (X1, XH2, AW (201201 F &
A4)) 1,920
OXst e (MAFE1Y) 29,751
2= 1,240,000 x1H «12& 14,880




e

=~
<13
7<)
™H &
00 I
= o

D —

T —

(] o o o o o o o
A0
Klo
El
E=]
o o o o o o o o
o o o o o o o o
NN ~ N NN
- R i R A
[e]
m<l
RS
(@) o o © Q [aN] o o o) o o o o o o o o o o o o
© <t © D [ee) ()] © [de) — o o o o o o o o o o o o
SR A SO A eI = RV BRSO IV IR R = S I S Y
< - - — — — | |o |~ — || TS| T
[ep] [ep] [eN) [aN] [a\]
aor
<
(=
S W o S ol o
g 88 o 9 N
* X x * * * *
or |®m ® s ® & & i
0 MY % ﬂ Y x 3
= W W © o oy <
BJ Ml oS o — o © =)
clge e A S g
@lgge 3 88 4
M. = . — ™
il - M~ =
B3 m wr )
. L KF = 0o E=)
= Ho ™ 1 mﬂ <F = T R
= + = o K K =K
i T30 T T S -~ ok K+ OF
F 1 B s - ﬂ 30 oF ol
S LR B ok Ho<k <k | m_ T |T ) 2|5 |1 &
- S W A ] I W v = T R | R |80 0
. S S R R S M| K| X
Rl w | |3 [0k Mo s S W0 X D
R0 Zlm|a|x O O|& (ir O|3& [ O
. D |8 | =|= o | = o | <
i nW|~
m




